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GENERAL INSTRUCTIONS TO THE EXAMINEES
(1) wiemeff Tewem 39 Y- R AHH AHar: ford |
Candidate must write first his / her Roll No. on the question ﬁéper compulsorily.
2) | T HA AT E |

All the questions are compulsory.
(3) WS W HI I & T8 I-gfereht & & ford |

Write the answer to each question in the given answer-book only.
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R ol o arafes @ve &, 37 it & I s @iy & ford |
For questions having more than one part, the answers to those parts are to be writtep

together in continuity.

o3 o fo=) & sl & § foret srpm <6t Ffe/ ot/ ferdtomamar 81w et iy 3
T 1 € HE A |
If there is any error / difference / contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

I 1 I fTE H 6 T 1 TR 3w ford |

Write down the serial number of the question before attempting it.

S ShATS 16 | 22 dh H =ik 4eheq § |

There are internal choices in Question Nos. 16 to 22.

T I -G & T81 % qHi AR fafaw | afe ¢ @ FR FE A, A w-IRew F
FHfeH Y81 L 3R 32 fowat el @ e 37 T wR @ @ |
Write on both sides of the pages of your answer-book. If any rough work is to be

done, do it on last pages of the answer-book and cross with slant lines and write
‘Rough Work” on them.
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Multiple Choice Questions :
1. e g e o I 1w e s o g o ferfa

Choose the correct option to answer the following objective questions and write in the
answer sheet :

(i) < FEAIH] B HETH FHNGAD 27 & G 961 ey @ 162 £ | MG T

T 542, A gE T -
@) 8, ‘ @ 27
@) 54 ' P @

The Highest Common_ Factor of two numbers is _27 and their Least Common

‘Multiple is 162. If one number is 54,. then the other number is :

(A) 81 (B) 27 |

(C) 54 | o (DYRBIEL ' 1
(i) TEIEx2—2x—8 HIYIADE:

(3) 2,4, : _ ® 2,5

@) -2,4 | (@ 2,6

The zeroes of the polynomial x* — 2x — 8 are :

A) 2,4 : (B) 2,5
© -2,4 (D) -2,6 1
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(i) afe veeh dEm x & G @ HEN y FH 7R A 5 Fw R, A B d A EHA @

(iv)

)

T 78 R ?
() 2x=7y+5, &) Sx=Ty+2
@) 7x=2y-5 @ 2x=7y-5

If fwice the first number x is 5 less than 7 times the second number y, then

which of the following equations is correct ?

(A) 2x=T7y+5 B) Sx=7y+2

©) 7x=2y-5 (D) 2x=7y-5

Ffe TR A 1 92 7E 2 ﬁmmya,ainﬁqa@m—
() 3n+2 (& 3n-1,

(# 2n-1 (@ 3n -2

If the first term of an arithmetic progression is 2 and the common difference is
3, then the n term will be :

(A) 3n+2 (B) 3n-1
(C) 2n-1 (D) 3n-2
3 % W 9T OIS 1 AT & —

() 42 | @) 39

@) 45¢ C@©® 33
The sum of the first five multiples of 3 is :

(A) 42 (B) 39

(C) 45 ' (D) 33
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(vi) afe foreht Frgst PQR # PQ2+QR2'=pR2ﬁ,zhmmmmz’m ?

&) 2 @ Z£Q,
(O @ wHaes
If PQ? + QR? = PR2 in triangle PQR, then which angle will be a right angle ?
_(A)' P - '
(©) £R None of these ' 1

(viii) 2 sin 45“’c
(37) '2
) 5
- The value of 2 sin 45° cos 45%is :
@iz R RO
1

S-09-Mathematics ' - B - N ' ' [Turnover




A

TSNS Vol LS £ia" N RN 0.  MENENEELITalN. -V

R R o -

(ix) ﬂﬁ%&‘iqmﬁmmﬁ%ﬂéﬁ %Tﬂé,?ﬁ!{ﬁaﬁrmaﬁw%:

(x)

(xi)

(3? ) 90° (q) 6Qo

f @ 30°

If the shadow of a tree is % times its height, then angle of elevation of the

sun is ;
(A) 90° (B) 60°
(C) 45° (D) 30°

ot o < = 3 fit ot et ¢ woet- vt wem B E -

(@) = @ R
@) vl @ o
" The tangents drawn at the ends of any diameter of a circle are mutually :
 (A) perpendicular (B) parallel
(C) intersecting (D) secant i
afe T g Y aRfer 176 3t 2, o w2
(31 21t ' @) 143
(@) 283t - @ 73
If the circumference of a circle is 176 cm, then its radius is :
(A) 2lcm : (B) Wiam
(C) 28cm (D) 7cm
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(xif) T T TR 1 STTAT 367 5 A B,y ey P 2 -

If the volume of a sphere is 367 cm?, then its radius is :
(A) 3cm (B) 6cm

(©) 2cm (D) 5cm

(xiii) T2 11 0T SE&AN3Ti 1 71e g

(3) 4 , ®) 5

@ 55 : @ 6

The mean of ﬁrst 11 whole numbers will be :

(A) 4 i _ (B) 5

C) 2= s (D) 6

(xiv)§& 3,3,5,3,4,2,8,4,3,4,3 FI 9gelh @ :

@n 7 : @ 3
®) 4 @ 5
The mode of distribution 3, 3, §, 3,4, 2,8,4,3,4,31s:
A 7 : (B) 3
©) 4 L D) 5

(xv) af& P(E) = 0.05 ?, i ‘E &I’ &t sferehan arft :.

(31) 0.90 @) 0.59
@) 0.50 _ @ 0.95
If P(E) = 0.05, then the probability of ‘Not E’ will be :
(A) 0.90 (B) 0.59
(C) 0.50 (D) 0.95

| Turn over



R — R —

e SRR

RS i

~

L.

DR R - anihasedt e

8
frferRaa vl # fer 2 ) 9fd 10 50 IT-qfa 3 farfian |
Fill in the blanks in the following questions and write them in the answer book.

(i) wiatae‘r_l:z—l, Eam ll?ﬁ%\‘h

The eleventh term of Arithmetic Progression -3, ;l . E i y
TG 10
(i) cos?60°—sin260°HAN B
The value of cos? 60° — sin? 60° is :

(iii) - 3fe T I T &ABS 154 A2 B, A 35t s 2

If the area of a circle is 154 cm?, then its radius is

1

(iv) aﬁ@ﬁgﬁﬁwﬁtﬁaﬁésﬁﬁ%ﬁmﬁﬁm 21

If the radius of a cone is 6 ¢cm and height is 8 cm, then its slant height is
(V) 3 W1 = 2 H1ey +

3 Median = 2 Mean + ! . 1
(vi) T = 60 — 75 %1 o fug o il

The class mark of the class interval 60 — 75 is ; 1
(vii) Toh IT& 1 IBTA T T 6 § 7T 3ich 37 I T1frehar AR |

The probability of getting a number greater than 6 when a die is thrown, is

‘ 1
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Very Short Answer Type Questions -

® HE"‘:23X32WY=22X32€1,?1‘lx3ﬁ1 y W1 S T (1.9.9.) 7
Eﬁ”?ﬂQl

If x = 23 x 32 i
X=2"x3%andy=22 32, then find the Least Common Multiple (L.C.M.)

of xand y. 1
(if) T x> - 3 & Y 71 Hifiu |
[ Find the zeroes of the polynomial x2 — 3, .
(iti) eH Tt gm x 4 y = 149 — y= 4% g1 1m0 |
Solve the pair of linear equations x + y = 14 and x — y = 4. 1
(iv) = 3rmepfa & afe DE | BC &, it EC %1 7 314 1f3r |
A

1 g

LS

In the following figure, if DE || BC, then find the value of EC. E 1

1.5cm

3cm

B C
(v) Torgati (—a, a) T (—a, —a) % = il gl 1@ Hifvr |
Find the distance between the points (-a, a) and (-a, —a). 1
(vi) Th FER TN H WSE T H F9E F W 2, 9 gF FH I 0 J@
HIfT | | n
The shadow of a vertical pole is equal to the height of the pole, then find the
angle of elevation of the sun. : . 1
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(vii) af we R & ure fmg & 100 et 6 gt T fra ww farg @ ek FrEt 1 3
07 60° B, A Har it Fard 7ma Fifdre |

If the angle of elevation of the top of a tower from a point at a distance of 100
metre from its foot is 60°, then find the height of the tower.

(viii) @ g 6 Bremn 7 f R qen Fm w siaha For 600 2 | 9 H RS TG
i |

The radius of circle is 7 cm and the angle subtended at the centre is 60°. Find
the length of arc.

(ix) @mwwmmlomaﬁwﬂa%lmaﬁwmaﬁmi

- The total surface area of a cube is 1014 meter2. Find the side of the cube.

(x) 7 &t Brsa o et 1 gEiT @k i i |

Find the surface area of a sphere of radius 7 cm.

m:—a

SECTION -B

R T :

Short Answer Type Questions :

4. fagHifmfe V5 w smfaaen |

Prove that \/g 1S an irrational number.

5. WEYG 2x2 - x — 6 % YIH W1 HI |

Find the zeroes of the polynomial 2x2 — x — 6.
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The difference of two numbers is 26 and one number is three times the other number,
then find the numbers. B

7. T ol # @R DE || BC, AD=x,DB=x—2, AE=x + 271 EC=x 1 &, @ x 1
HH FTd IR |

In the following figure, if DE || BC, AD = % DB =FS0RAF =x + 2 and EC=x ~ 1,
then find the value of x. 2

C

B

8. afefag (x, 3) 3R (5, 7) % it i gt 5 31 &, T x 1 7H T HIFAT |

If the distance between the points (x, 3) and (5, 7) is 5 units, then find the value of x. 2

9. ﬂﬁtanA=lﬁ,‘<ﬁ2sinAcosA$lW$fﬁ@ﬁQl :
If tan A = 1, then find the value of 2 sin A cos A. 2

10, 3 35 ¥, el e 20 e e 14 e ¥, s A A g2 § | 2 A et e
% 1Y 30° 1 HI0T FATAT 7, Al AR hl TS T T | (TR A 1T €9 H ST 537 ?)

The tops of two pillars, whose heights are 20 m and 14 m, are connected by a wire. If
the wire makes an angle of 30° with the horizontal line, then find the length of the
wire. (Wire is connected in straight line form) 2

11, @ s et o P 5 & e 3 800 & 1 93 9 ) < e o e e g
SR e A |

Two concentric circles are of radii 5 cm and 3 cm. Find the length of the chord of the
larger circle which touches the smaller circle. 2
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frsen 21 At a1 g9 1 Uk AT FF T 60° 1 HI Jfafta wear # | = G T T

e

4. WIeVE LV

An arc of a circle of radius 21 cm subtends an angle of 60° at the centre. Find the area

of the sector formed by the arc.

13. U O Il S & YR 1 8%l 154 82 R qu sgeht Sars 15 ot 2, 961 T5
IETT &% [T HIT |

The area of the base of a right circular cylinder is 154 cm? and its height is 15 cm, find

its curved surface area.

14. T STO=RaT 927 1 718" 371d HIfSu

x | 5 R 8 OLEYIER10

f 8 6 12 b 5 6

Find the mean of the following frequency distribution :

X 3 6 7 8 9 10

£ 8 R e s 6

15, Ueh &= o 9TE UH1 ITE1 2 T ©: werehl 1 fefaRad arer ifhd & -

[al (8] [c] [D] [E] [a] , |
6 U Y U ST heb AT R | SEH1 1 T1MAhel1 & 6 (i) A TR (i) D WA 2

A child has a die whose six faces show thé letters as given below :

[al (8] [c] [D] [E] [A]

The die is thrown once. What is the probability of getting (i) A (ii)) D ?
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Long Answer Type Questions :

10 3 250 % =t 7 4 % fope o # 7

How many multiples of 4 lie between 10 and 250 ?
HAYAT/OR

0 3R 50 % i <hl forem @it =1 2 3 Hifo |

Find the sum of the odd numbers between 0 and 50.

Ife fag A(6, 1), B(8, 2), C(9, 4) 31 D(p, 3) Tk quici-=qH =5 31 36t 369 & &1, o p
1 W 1A I |

If the points A(6, 1), B(8, 2), C(9, 4) and D(p, 3) are the vertices of a parallelogram,
taken in order, find the value of p.

AYAT/OR

34 forg o frrdueh i i S fermgai (-1, 7)3131(4 —3)3?rﬁaﬁa1@f%@r@03ﬁ2 3
%wﬁﬁmﬁawél

Find the coordinates of the point which divides the line segment joining the points (-1, 7)
and (4, -3) in the ratio 2 : 3.

o
o 1R s el e 3 e = e e 2 |
Prove that the parallelogram circumscribing a circle is a thombus.

FYA/OR . :

firg i % 39 % i 1 I A smR-ama B Yol g9 F FF | IS SO
FafadAREl
Prove that opposite sides of quadrilateral circumscribing a circle subtend
supplementary angles at the centre of the circle.
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19. = sreEET s w1 wrerss w1 i
=1 0-10 | 10-20 | 20-30 30—40ﬁ 40 - 50
TERAT 4 28 42 20 6 J
Find the median of the following frequency distribution : 3
Class 0-10 | 10-20 [ 20-30 | 30—-40 | 40-50
Frequency 4 28 42 20 6
HAYAT/OR
e = STRAT §ieA &1 71 21.5 8, 1 k %1 4 71 Hifa |
x 5 15 25 35 45
f 6 4 3 k 2
If the mean of the following frequency distribution is 21.5, then ﬁnﬂ tﬁe value of k. 3

x 5 15, 25 35 45
6 4 3 k 2

s -q
SECTION-D
FauTeTs 391
Essay Type Questions :

20. TH quHv BT Y S 96 SuR ¥ 7 At 59 2 lﬂﬁwnﬁrﬁwﬁ A IR
YIS T ST |

The altitude of a right triangle is 7 cm less than its base. If the hypotenuse is

13 cm, find the other two sides. : 4
HYAT/OR :

< ST ST qUIteh ST 61T R ot <61 A 365 &Y |

Find two consecutive positive integers, sum of whose squares is 365. 4
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Prove that (cosec 0 — cot 0)? =

firg e 6 (cosec O — cot 0)2 =

AYAT/OR

e

14cos0

e Al ool

15

= COS 0

1+ cos ()

cos 0

e §29 $1 17.5 hicdd AIET HIHehHT H1E4 STd <hIforC :

el

oS

o= 10

10- 15

T
15 -20

R — —

frg IR 6 (cosec A —sin A) (sec A — cos A) (tan A +cot A) = 1.

Prove that (cosec A — sin A) (sec A — cos A) (tan A + cot A) = 1.

20-25

25-30

HARAT

3

7

15

24

16

5

Find the mean of the following dis

tribution by considering assumed mean as 17.5:

Class 0-5 S0 0= 15[ 15=202 820 2581725 — 30
Frequency 3 7/ 15y 24 16 5
. M/OR
T ATCETRET S I Sgeieh [1d Eﬁﬁm
=t s A & HE of (Ol |
TR g/ 8 2 2 1
Find the mode of the followihg frequency distribution :
Class 1-3 | 3 ORI R 0T |
Frequency 7 8 2 R 1
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